Sr Questions Answers Choice

A. 6.33 m/s
. 7.33 m/s
8.33 m/s
9.33 m/s

1 = S bl (S (e S eSe 550 (S Sire 100 e 3350 12 65068 S

LI

I
Y
s

Y 5 Jise 3

2 up S S Gl 2 S Jaals (A ol e 50 s e 010 Alen-

m/s
m/s2
km/s
km/s2

3 PP B

I
ST

EEVPERH
L
Y

Y

BIDAR
LIDAR
NIDAR
PIDAR

4 i rbalion S o (5 sbue (e s 5 (5 slase-

5 = R My S e S S gl Dla 1S g

70 km/h
80 km/h
90 kmvh
100 km/h

6 =8 S S5 S e

100kmvh
200km/h
300km/h
400km/h

7 = S S5 S e

V+t
tiv
vit
vt

JAAL
Ciienly (a3

B

9 G 5SS ALeali 3 Sk (e Sy S S e S

10 2 NS sl oS oS e 2 S O -

11 2 NS e S o ol (S 5 a3 S gy -

> UO0®WP» DOUP DO®P U0®P DOUP DOWF 0U0DP» UO0UP DO0WF U0®P» 00D

12 = NS (S B ) Gan g Alals s plie e geade (S 1S Siil g L Sa oS-



